[TocunTaTe KOMYECTBO Pas/nyHbIX 3nemMeHTos B for(d=min;d<=max;d++)
HeyrnopsA04eHHOM Maccuse {

1,0,6,3 \
1,0,1,1,6,0,6,3,6,0,6,0,7,7,3

void different_elements(int p[],int razmer) }loid different_elements_2(int p[].int razmer)
{ ) inti;
Int n[SIZE], int d:
int i,f; int counte[;]O;
i . int max=p[0];
!nt sost; int min=p[0];
int n_razmer=0; for(i=1;i<razmer;i++)
n[0]=pO]; ¢
n_razmer++; f{f(P[']<m'”)
for(i=1;i<razmer;i++) min=p[il;
{ )
sost=0; i{f(p[i]>max)
120r(f=0;f<n_razmer;f++) max=plil
}
I il== }
I{f(p[l] n[ﬂ) for(d=min;d<=max;d++)
{
sost=1; for(i=0;i<razmer;i++)
{
) } {if(p[i]==d)
if(sost==0) counter++;
{ break;
n[fl=pli; !
n_razmer++; )
} printf("%d\n",counter);
}

}

printf("%d\n",n_razmer);

}
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